function hw2b(action)

% loads a glob and play a movie

load('topo.mat','topo','topomap1');

% Sphere of 24 makes 15 degrees between lat and long lines

[x,y,z]=sphere(24);

h=surface(x,y,z,'FaceColor','texture','CData',topo);

% Now view the globe so the Greenwich meridian is directly

% facing the viewer

view(-90,25);

colormap(topomap1);

set(gca, ...

   'NextPlot','add', ...

   'Visible','off');

axis equal

set(get(gca,'Title'),'Visible','on')

% Movie

for t=1:15

   R1=[1 0 0; 0 cos(pi/6*t) -sin(pi/6*t); 0 sin(pi/6*t) cos(pi/6*t)];

   R2=[cos(pi/10*t) 0 sin(pi/10*t); 0 1 0; -sin(pi/10*t) 0 cos(pi/10*t)];

   R3=[cos(pi/30*t) -sin(pi/30*t) 0; sin(pi/30*t) cos(pi/30*t) 0; 0 0 1];

   Q=R1*R2*R3;

   S=[1 0 0; 0 t 0; 0 0 1/t];

   A=Q'*S*Q

   a=A(1,1);

   b=A(2,2);

   c=A(3,3);


h=surface(a*x,b*y,c*z,'FaceColor','texture','CData',topo);

   F(t) = getframe;

end

%play movie 5 times
movie(F,5)
